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THREE-STRINGED BOUZOUKI METHOD

CHAPTER 1

O1voteg 6TO MapatnpoUue 0TI TTAVW OTIG Ypappég avaypd-  The notes that are on the staff lines are E, G,
KA€18i tou ZoA (pOVTaL OL VOTEG [, OOA, a1, pg, @a, Evew ota dia- B, D, F, whereas at the intervening spaces the
Notes on OTAMATA OL VOTES A, AQ, VTO, L. notes F A, C, E.
Treble clef
h Py h
)7 A Pas ~F )7 A O
p 4f O ~F p 4 O
s Py ~F S O
ANV Py © ANV O
oJ oJ
Ww/E ooA/G ai/B pe/D  @alF @a/F Aa/A vto/C w/E
Eav amotumtwBouv e Siadoyikr oelpd: In a consecutive line they are placed like this:
A -
iy — O o
W 4t O O ~F
[ £, Pas (@) ~F
ANSV/ Py O ¥
oJ
w/E @a/F ooA/C Aa/A ol/B vto/C pe/D u/E @a/F
BonOntikég Eav BeAnooupe va ypdawoupe voteg avw f If we wish to write notes either above or be-
VPAHHES KATw amod To Tevidypappo, tote Ba Tpémel  neath the stave, then one needs to use ledger

va XPNOLUOTIOOOUpE PBonOnTIKEG YPAUUES,
TIAVW OTLG OTIOIEG YPAPOULLE TIG VOTEG. AKOAOU-

Ledger Lines

Bei Ttivakag pe OAeG TIG VOTEG 0TO KAELSI TOU GOA.

lines on which we will write the notes. A com-
prehensive table follows with all the notes of
the treble clef.
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ot/B vio/C pe/D Ww/E @a/F ooA/G Aa/A ol/B vio/C  pe/D w/E oa/F

H Ttio xapnAn vota oto mapamndve mapadely-
Ha eivat n pe kat n o YnAr givat n @a. Xta ke-
dAala tou akohouBouv Ba e€nynooupe Twg
kaBopidetal 1o Tovikd UYog otnv kdbe vota
KAl TtwG auto Slapop@®VETAl avaidywg HE To
TIwG TiLECOUE TIG XOpdOEG TTAVW TNV TACTIEPA
Tou ptrouloukiol pag. AkolouBel éva akopa
TIapAdelypa e voTeg 0To KAELSI TOU GOA, TTAVw
OTIG YPAUWEG, AVAUETA ATT AUTEG KAl TEAOG OTIG
BonOnTIKES ypapHES TIAVW KAl KATW ATIO TO TIE-
VTAypapo.

At the examples shown above, the lowest note
is D and the highest is F. In the chapters that
will follow, we will explain thoroughly the way
pitch is determined and in what way this is al-
tered according to the pressure we apply on the
strings of the bouzouki fretboard. An example
of notes at the Treble clef that are on staff lines,
at the intervening spaces and on ledger lines
either above or below the stave follows.
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MEGOAOX IMNA TPIXOPAO MNOYZOYKI

KE®AAAIO 1

Mapadeiypa
Example1

H diapkela
Duration of sounds

«
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Y& évad HOUGIKO Koppdtt n ibla vota pmopei va
Slapkei AANoTE AlydTEPO KAl AANOTE TIEPLOTOTE-
po. A@oU Katavonaape AoLTtov To ToVIKO UWog
KaBe votag, oelpd €xel 1o va KataAdPoupie Kat
1 Sldpkeld tng.

OAdKkAnpo: To oAGKANpo €ival n aia Tou pe éva
XTUTINRa n Sldpkela Tou €xel €ival TECTEPLS
Xpovol.

Miwgé: To oo €xel Siapkela duo xpovoug, dpa
SU0 ULod Llooduvapouy pe Eva OAOKANpPO.

Tétapro: To TETapto £Xel SlApKELA Evav Xpovo.
AUo Tétapta tooduvapoly Ue éva pioo i TEcoe-
pa TETapta .ooduvapouy e Eva oAOKANpo.

'Oydoo: To Oyboo £xel Sldpkela LaoU Xpovou.
AUo 6ydoa tooduvapouv pe éva TETApTo. X€
évav xpovo dniadr, £xoupe 6UO XTUTIOUG,

Aékata ékta: Ta duo Gékata €kta sival (oa pe
€va 6y500 Kal TEooepa e €va TETAPTO.

Tplakootd Seutepa: e 10O XPOVO EXOUE TED-
0eplg XTUTIOUG dpa OKTw Tplakoatd deltepa
£XOUV TNV XPOVIKN SIAPKELA EVOG TETAPTOU.

E€nkootd tétapta: X LI0O XPOVO EXOULE OKTW
¥TUTIoUG, £101 Aotttov dekag€l e€nkootd tétap-
Ta £XOUV TNV XPOVIKH SLAPKELA EVOG TETAPTOU.

Y10V TIapakdAtw Tivaka gaivovtal OAeg ot Xpo-
VIKEG a&lec.

In a music piece, the same note can last some-
times longer and sometimes shorter. Since we
mastered the idea of musical pitch for each
note, now it is time to understand their dura-
tion.

Whole note time value equals four beats.

Half note lasts for two beats. Therefore, two
half notes equal a whole note.

Quarter note lasts one beat. Therefore, two
quarter notes equal a half note or four quarter
notes equal with a whole note.

Eighth note lasts halfa quarter note. Therefore,
two eighth notes equal one quarter note. This
means thatin a beat we hear two eighth notes.

Two sixteenth notes equal an eighth note and
four sixteenth notes equal a quarter note.

Thirty-second notes mean that in half beat we
come across four notes. Therefore, eight thir-
ty-second notes are equal to a quarter note.

Sixty-fourth notes mean that in half a beat we
come across eight notes. Therefore, sixteen six-
ty-fourth notes are equal to a quarter note.

Check the relationships at the following table.
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THREE-STRINGED BOUZOUKI METHOD

CHAPTER 1

Mivakag 1oo8uvapwv aiwv

Same duration chart

O tavoeig
Rests
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‘Omwg eidape Tponyoupévwg n didpkela dia-
(PEPEL aTrO TIG VOTEG: TO OAOKANPO Slapkei Téo-
0EPIG XPOVOUG, TO ULT6 U0 XpOVOUG, TO TETAPTO
€vav Xpovo K.ATL. e éva PHOUGIKO KOUUATL QWG
OV EXOUHE HOVO VOTEG PE SLAPOPETIKA XPOVIKN
a&ia (Trou akoUyovtat) aAAd Kal Louatkég adieg
TIou dev akoUyovtal. Autd Ta onueia ovopa-
{ovtat Ttavoelg Kat éxouv dldpkela ion pe tnv
avtioTotyn Siapkela amod TI§ VOTEG. X1a TIapa-
Seiypata mou akoAouBoulv Ba katavoroete pe
akpifeta 1o W LETPApE TIG TTAUCELG UETA O
€va Houatko Béua.

‘Omwg Ttposittape, To oAOKANpo Stapkei téooe-
pIG XPOVoUG. Kat’ avtigtotyia Aotmtdv EXOUNE Kal
TNV Ttavcon oAokAnpou, Tng omoiag n didpkela
elval lon pe autrv Tou oAGKANpou, dpa dlapkei
KAl auTr] TEGGEPIG XPOVOUG.

As we saw above, duration differs between
notes; whole note equals four beats, half note
equals two beats, quarter note equals one beat
etc. In a piece of music though and apart from
notes that bear different time values and which
we hear, we also come across other music sym-
bols that bear different time values and which
instruct us to keep silent for certain durations.
These symbols are called rests and they bear
time values that are equal to notes duration.
The examples that follow will help you under-
stand how we count rests during a given musi-
cal piece.

We already know that a whole note equals four
beats. Correspondingly to that we have a whole
rest the duration of which equals the whole
note, therefore this lasts for four beats as well.

To 0AGKANpO ival (0o e TETOEPLG XPOVOUG 9 H Ttaton ohokAfipou Slapkei kal auTr TECOEPLG XPOVOUG

The whole is equal to four beats

The whole rest also lasts four beats

0
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MEGOAOX IMNA TPIXOPAO MNOYZOYKI

KE®AAAIO 1

Ot tavoEslg Kat N SIAPKELA TOUG aVaAuTIKA
All rests and their duration

Mapsotypéva

Dotted notes

18
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g Mauon ohokAnpou Whole rest 4
E Mavon ool Half rest 2
% Mavon tetdptou Quarter rest 1
% Maton oyddou Eighteenth rest 1/8
% Mauton dekdtou éktou Sixteenth rest 116
% Maton tplakoatol Seutépou Thirty second rest 1/32

‘Otav umpootd gg pia vota Totmobeteital pia
OTIyUA N vOTa ovopddetal TIAPECTIYHEVN KAl
au§avetal n aia Tng KAtd To ULOO TNG APXLKNG

¢ a&iag. To idlo Loy UEL yia TIg TTAUOELS. rests.
ASia looSuvapn aia Mavon
Duration Equal duration Rest

When a dot is placed after a note, this note is
called “dotted note” and its value increases by
half of the original duration. The same goes for

looSuvapn aia
Equal duration

o o+d-d.
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